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2x2 +5x+2=(2x+1)(x +2)
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@)2x-3 ® 2(x-3)
(x=2)(x+3)—-4(x+3)=(x+3)(x—2-4)

= (x+3)(x—6)
So(x4+3)+(x-6)=2x-3
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@® a® + 2ab + b* = (a + b)?
@ a?-2ab+b* = (a—b)?
@)a? - 12 = (a+b)(a-b)
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14. 95 A 5 A de2aid 222

D x242xy+y*=(-x+y)?

@ ax—bx—a+b=(a—b)(x+1)
@x2+x—6:(x—2)(x+3)

@ 6x>-x-1=2x+1)(3x-1)
® 22+2=(x-V2)(x+ V2)




3x2 +10x+3 = (3x+ 1)(x +3)
® (3x-1)y

@9(x+1)(x-1)

® (x-3)?

@ (x+4)(x-3)

® (Bx+1)(2x-1)




16.

3x% = 10x+m 9 T 157 3x -4 A of, Th2 T A=

D x-1 @x—2 @ 2x-1
@ 3x-2 ® 2x-3

~&B

3x2—10x+m = (3x—4)(x + k)
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@ ab+b-a-1=(a+1)(1-b)

@ 2-a-2b+ab=(1-b)(2+a)

@ -y +2x+2y=(x-y)(x-y+2)
@x3+x2+x—|—1:(x2+1)(x+1)
@xy-1-20-1) = -2 -1




